3.3.1 Nutrition in the Flowering Plant  

Higher level Past Paper Questions
S.E.C. Sample Paper HL

15.
(a)
(i)
Where precisely does water enter a plant?

(ii)
Name the process responsible for this entry of water.

(iii)
Is the process you have named in (ii) also responsible for the uptake of  minerals?

Explain your answer.

(iv)
In which tissue does water ascend through the plant? State one way in which the tissue is adapted for this purpose.

(v)
Explain how water may be raised to great heights in a tree against the force of gravity.

2004 HL

1.
(a)
Name an autotrophic organism …………………………………………………………………..
2004 HL

4.
(a)
The diagram shows part of the under surface of a leaf as seen through the microscope.

A is an aperture. B and C are cells.
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Name A, B, C.

A ………………….…….
B ….……..………………
C ……………………………

What is the function of A? ……………………………………………….…………………….

Name a factor that influences the diameter of A…………………………………...…………….…..

Name the apertures in stems that are equivalent to A...…….………………………………………..

2005 HL

14.
(a)
The passage of water through a plant is known as the transpiration stream. Answer the following

questions in relation to the transpiration stream.

(i)
Explain how water enters the plant at the root hair.

(ii)
Do minerals enter the plant by the process that you have indicated in (i)? Explain your answer.

(iii)
How is xylem adapted for its role in water transport?

(iv)
Strong forces of attraction exist between water molecules. Give an account of the importance of these forces in raising water to great height in trees.

2008 HL

14.
(a)
(i)
Name the openings in the leaf which allow the entry of carbon dioxide for photosynthesis.

State a factor which influences the diameter of these openings.
2008 HL

14.
(c)
(v)
Describe how minerals such as nitrates enter the root of a plant from the soil.

